Equations of Lines Unit Review

Name:
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Find the slope and y – intercept of each line.
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1.





2.
Slope ______



Slope 
______

y-intercept ______


y-intercept _______

Find the slope of the line for each pair of points.

3. (1, 0) and (3, 6)

4.  (-2, 1) and (2, 3)

5.  (2, -1) and (6, 1)

Find the slope and y-intercept for the following equations.

6.   y = 5x – 7



7.  y = -2x + 4


Slope ___




slope ___





y-intercept ___



y-intercept ___



8.  y = x 




9.  y + 3x = 8 (CAREFUL!)
Slope ___




slope ___





y-intercept ___



y-intercept ___



Look back at the equations for #6-9 to answer the following.

10.  Which equation has the steepest graph? __________
11.  Which equation has the flattest graph? ___________

12.  Which equation(s) have graphs that slant upwards from left to right?

13.  Write an equation of a graph that crosses the y-axis at a higher point than the equation y = 2x + 1.

Write an equation in slope intercept of a line with the following.

14.  slope -1; y-intercept at (0, 5)
15.  slope 2; y-intercept at (0,-8)

Identify the slope and y-intercept and graph the following equations.

16.  y = ½ x – 3



17.  y = -2x + 1
Slope = ___________


Slope = ___________

Y-Intercept = __________

Y-Intercept = __________
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Write an equation for the following lines.
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18.



19.




20.

Slope = _________
       Slope = _________
 
 Slope = ________
Y-Intercept = _______
       Y-Intercept = _______
  Y-Intercept = _______

Equation = __________
       Equation = __________
  Equation = __________

21.  An electrician charges customers a basic rate of $22 for making a service call plus $35 for each hour worked.  Write an equation to represent the total charge, C, if h represents the number of hours worked.  What is the y-intercept?  Explain its meaning.

Equation _______________________

y-intercept _______________________

meaning of y-intercept _____________________

22.  At the beginning of the summer, Beth has $2, John has $30, and Sam has $14.  Beth and John each earn $3 per day for baby-sitting Sam.  John spends $5 each day at the movies while Beth spends $2 each day playing video games.  Sam stays at home and saves his money.  

a. Write an equation for each person’s earnings for the summer:


Beth _____________________


John _____________________


Sam _____________________

b. Which person will have the most money at the end of two weeks? ________________________________________________

c. Which person’s graph would show a positive relationship? _________

d. Which person’s graph would show a negative relationship? _________

e. How much money would you expect Beth to have on the twentieth day? (Show work) ________________________________________________________________________________________________________

f. If Beth decided to spend only $1 on video games instead of $2, how would her graph look different? ____________________________

23.  On a recent backpacking trip up a mountain trail, Jim noticed that it seemed to get colder the further up the mountain he hiked from about 9 a.m. until about 3 p.m.  He thought that it should get warmer in the afternoon hours, but the temperature dropped as indicated in the table below.  What is the slope of the data in the table?  What is its meaning in Jim’s situation?

	Elevation (ft)
	Temperature (Fahrenheit)

	1,000
	70

	2,000
	69

	2,500
	68.5

	4,000
	67

	5,000
	66

	5,500
	65.5


Slope ____________________

Meaning to Jim ____________________________________________________

